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1. If f(z) = cosx + cosazx is periodic function,

then a must be (a)an integer (b) a rational number

(c)an irrational number (d) an even number
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2. The fundamental period of the function

2 3
Yy = sin? (Q—W—F) is A2 then the value of
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3. If

2013 9 9 0 0
Z tan(—n)sec( — ) = ta,n(—a) — tan(—b)
n—1 2 2 2 2

then (b + a) equals (a)2014 (b) 2012 (c) 2013 (d)

2014
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4. For the expression a.maximum

sin® z 4+ cosb z

value is 4 b. minimum value is 1 c. maximum value is

1
6 d. minimum value is 2
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1— s & 2x + cos2x

5.1f f(z) = Y , then the value
‘ 11_ 3
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6. If range of the function

B 2sin?z + 2sinz + 3

f(x) is[p, q|, then the

sin? +sinx +1

10
value of 3p + 6g + 1is (a) 3 (b) g (c) 28 (d) None

of these
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7. Value of cot40%cot 20 (4sin10° — 1) is —1 (b)1

(c)2(d)o
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